Class prep quiz on section 4.9, Stewart’s Calculus (8th ed.)

1. Which of the following is not a correct statement about antiderivatives?

(a) One antiderivative of cos(2z) is sin(2z).
(b) One antiderivative of e” is e”.
(¢) One antiderivative of sinz is — cos .
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(d) One antiderivative of — is In|z|.
T

2. Which of the following is the most general antiderivative of 2 sin x cos x7
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(a) —cos’z (b) i 2

5 (¢) sin’x
(d) None of the above

3. What is the most general antiderivative of 823 — 327! 4 5cos 2?7
(a) 22*—3In|z|+5sinz+C (b) 22'—3In|z| —5sinx + C
(¢) 22 —3+5sinz+C (d) 22'—3—5sinz+C
4. What is the function f(x) such that f”(x) = 723 + €%, f(0) = 11, and
f(0) =-37
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(@) )= oo e
72°
(b) f(iE)Z%—l—ex—lliL'—l—lO
(c) f(x):Z—erex—Serll
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(d) f(x)—7i+ex+10



